T GGl 6l di a9 O A @I 99 G HET 7 =g
DO NOT OPEN THE SEAL OF THE BOOKLET UNTIL YOU ARE TOLD TO DO SO

TtmeA!lawed 2Hours
Reffa aog -2 52

ANO07CGLT2023

Maximum Marks : 200
Hfersaw g : 200

ST % I o | TEe A1 (oRd TG bl TAH | Ug of| 36 ekl H Se SN AU Teel ol Wivl § fed 7 gl

Read the following instructions carefully before you begin to answer the questions. This Booklet contains questions in English as well as in Hindi,
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1L This Booklet contains 200, questions in all comprising the
following four parts:

. Part A : General Awareness (50 Questions)
Part B : General Intelligence & Reasoning (50 Questions)
Part C : Numerical Aptitude (50 Questions)
Part D : General English (50 Questions)
2. In questions, set bilingually in English and Hindi, in case of]
discrepancy, the English version will prevail.

3 All questions are compulsory and carry equal marks.

4. The paper carries negative marking. 0.25 marks will be
deducted for each wrong answer.

5 Answers must be shown by completely blackening the
corresponding circles of the OMR Sheet against the relevant
question number by Black or Blue Ball-point Pen only.
Answers which are not shown by Black or Blue Ball-point Pen
will not be awarded any mark.

6. A machine will read the coded information in the OMR Sheet.
In case the information is incomplete or different from the
information given in the application form, such candidate will

. be awarded ‘ZERO’ mark.

7 Both OMR Sheet and Question Booklet must be handed
over to the Invigilator before you leave the Examination
Hall failing which your candidature will be suspended.

8. The manner in which the different questions are to be answered
has been explained at the back of this Booklet (Page No. 56),
which you should read carefully before actually answering the
questions.

9. Answer the questions as quickly and as carefully as you can.
Some questions may be difficult and others easy. Do not spend
too much time on any question.
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PART—A: GENERAL AWARENF.SS

1. _The method of impeachment of the 1 YRT & Tscufd W HAgager $r fafer
President of India is adopted from Fel & TS 3T'§'F‘
(A) USA (A) AT
(B) UK (B) IH
(C) USSR (C) wfeaa gw
(D) France (D) g

2 Who among the following was not a 2 T=fef@a & § ST 3}_;@\1% 1946 H

~  member of the Constituent Assembly ol SRS THT T GeET AET An

established in July 1946? : '
(A) Dr. Rajendra Prasad (A) =T Ieig garg
(B) K. M. Munshi (B) huA. HAM
(C) Mahatma Gandhi (C) wgreaAT amedt
(D)  Abul Kalam Azad (D)  3TeeT eIl ITSTG

3. ~Where was the ‘Azad Hind Fauj’ 3. '3TalTe; fgee Wier &l TATeT Fgl &9
founded? o 5
(A) Thailand (A) el
(B)  Britain (B) feaT
(C) Italy (C) sear
(D) Singapore (D) ﬁﬁTT‘_:IDT

4. _The Seven Pagodas of Mahabalipuram | 4.  FEECIH & I YIS e g@nrT
are witnesses to the art patronized by WET o F 79 8 =
(A) Pallavas (A) geag
(B) Pandyas (B) dsam
(C) Cholas (C) =remd
(D) Cheras (D) =&
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5.

Total internal reflection cannot take
place when light goes from

(A) glass to water

(B) waterto glass

(C) water to air

(D) glass to air

~ Ashestos is formed of

(A) Calcium and Magnesium

(B) Copper, Zinc and Manganese

A (C) Lead and Iron

(D) Calcium and Zinc

_ A passenger standing in a bus is thrown

outward when the bus takes a sudden

turn. This happens due to

(A) outward pull on him
(B) inertia of motion
(C) change in momentum

(D) changein acceleration

Electric current in a metal wire is due to

‘the flow of

(A) Electrons |
(B) Protons
(C) lons

(D) Holes

5

{ﬁaﬁﬁﬁmmﬂaﬁawaﬁ
eTer T ST Bl &
(A) @ & Ster & AR
(B) oTer ¥ aiw @ 3T
© s @ A @ AR
D) e & arg A AR

TEyEeT T AT g §
(A) e T Aen R
(B) e, ST 3R Horeirer
() ar 3w

(D) Hfeeraw 3R i

wwmﬁsﬁr%a‘rwﬁw
it aeT A 3 PR e §1 v 5
HROT 8ldT &

(A) 3@ W aed e

B) afeREe

(C) wvdes & aRads

() eawor # TREE

U@a?mﬁfaagawmﬂ?w%
¥ gl 57

(A)  geregie

(B) wier

(C) 3masT

(D) &=
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9. —~ When the barometer reading dips 4 o Feer 1 T mEE 7 g
-~ suddenly, it is an indication of ST & A oo g B
(A) hot weather (A) T Figa
(B) calm weather (B) ertd HiwH
(C) Storm (C) 3mehr
(D)  dry weather (D) ook HiwH
10. _ Ice is packed in saw dust because 10: "o #r Egﬂﬁ' # i S& fRar Srar
(A)  saw dust will not get melted easily (A)  SreT AT & 8T Moo
(B) saw dust is poor conductor of (B) SRIET FSAT &1 FHelleleh gIar &
heat -
(C) saw dust is a good conductor of (C) SRIET FEAT FHI 3TST ATelh 5
heat '
(D) saw dust does not stick to the ice (D) T &% WX FRAuHdT G &
11. _Who is first to introduce the concépt of 11.  "eORAeEEY" e I dfehd FIA gy
<" Cold War, coining the term M TG R FIUROT F T I
"Stereotype”? i 2 99
qga afed f
(A) Attlee (A) ueelr
(B) Paul Kennedy (B) drer hasr
(C) Walter Lippmann (C) areex Tordae
(D) Thomas Friedmann. (D) e WEHT
12. ~Who is author of the book ‘The Politics | 12. 'z dffafeey 3% UFELIHSH 3o
<~ of Extremism in South Asia’? A3y TR S F & oaEd FiT §7
(A)  Shashi Tharoor (A)  IfRr ¥
(B)  Kushwant Singh (B) herdd g
(C)  Nirupama Rao (C) f%uaT I
(D) Deepa M. Ollapally (D) &mur TH. 3ol
Which is the India’s first newspaper? 13,

i 52

(A) Hindustan Times

(B) Indian Express

(C) Deepika
(D) Bengal Gazette

A &1 Ugell TATR UF Sl AT §?
(A)  TEeedmT egra

(B) sf3aer wermvw

(C) &ftemr

(D) . SeTTer ITSIC
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14. In which one of the following regions

does the Indus River originate?

(A) Ladakh
(B) Lahul
(C) Nepal
(D) Tibet

A5 Which one of the following places is
L famous for productioﬁ of railway
coaches?
(A) Nasik

(B) Kapurthala
(C) Kolkata

(D) Bhubaneshwar

16. - The term ‘Operation Flood’ is associated
with
(A)  Blue Revolution
(8) Golden Revolution
@

(C)  White Revolution

(D) Yellow Revolution

17. Which is the only Union Territory to
have a High Court of its own?_
(A) Chandigarh
(B) Delhi
(C) Andaman & Nicobar

(D) Lakshadweep

14.

15.

16.

17

(C) <ad wifd

e & & e a7 7§ By ad
T 3EITA BIcT §7

(A) =™

(B) el

(C) aAurer

(D) Tead

craaT & & @ e
ﬁa%%w%ﬁw;ﬁla%?

(A) iR
(B) el

(C) hTeTehrdr
(D) 3:'!33331'33'{‘

e TS ATE fRay Tt 67

(A) - Sirelr Fifa
(B) wafoTe wiftd

(D) el FEA

THATT g enfdd geu forer 3T
oo FAed ©

(A) =SHTE

(B) fewelr

(C) 3iEAR AT FPER 1
(D) wETed™

L
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lg/-"What is the pH of pure water? 18. g STel T pH AT fora=TT BYaT &7
(A) (A} a
(B) (B): 7
(€) (C 5
(D). 12 (D) 12

19.

20.

21.

~Which one of the following is not

responsible for the global warming?

(A) Carbon dioxide
(B) Methane
(C) . CFCs

(D) Slacked Lime

The velocity of sound in moist air is
more than in dry air because the moist

air has

(A) Ies; pressure than dry air

(B) more density than dry air

(C) more pressure than dry air

(D) less density.than dry air

The term brown air is used for

(A) industrial smog
(B) sulfureous smog
(C) acid fumes

(D) photochemical smog

19.

20.

21.

fFefaf@a # & eliea aiffer & o
fSFAeR =6l &

(A)  FEeT SE3TFEES

(B) e

(C) Hrowdr

(D) wIfEes T

o~

A7 gl # €3l & 99 eF gar H#
qorer 7 AU giar § Fifs 77 gar
=

(A) %ﬁmﬁ@mﬁmm""
(B) < gar T Jelem H 3SR

o ,

(©) o gar 1 o F i e
(D) grseh gar T eIl H FHH Gelcd

T3 TR 2Ueg &1 99T fohdas forw
feham Sirar g2 .

(A) 3 T

(B) Hewgz® FTHT

(C) ©Ras &3

(D) wIEIHHede THIT
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22.  Which one of the following is not a basic
feature of the Indian Constitution?
(A) Presidential government
(B) Federal government
(C) Parliamentary government

(D) None of these

23 - Planits . are _green because of the
presence of a pigment called
(A) Glucose
(B) Nitrogen
() Chlorophyll

(D) Oxygen

24. ISRO stands for

(A) |nternational Scientific Research

Organization

(B) - Indian Science Research
Organization

(C) Indian Space. Research
Organization

(D) International  Space Research

Organization

22, ﬁmﬁ@ﬁﬁﬁaﬁﬂ—@rwm
faee 9 7o AT 7 7
(A)  GEEREE ITEHT
(B) ¥elrr &N
(0GR R
(D) ot & P T

23, g avie & SUTCUR F FROT AL
&Y B 87
(A TS
(B) =ATSgISTa
(C)  =FeRIfFer

(D)  3iTeRISTel

24. |SRO & fEEaRa &9 &

(A)mwaaﬁmmmﬂ

2
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25.

{

26:

27.

28.

Who among the following was not a
member of the Drafting Committee of
Indian Constitution?
(A) B.R. Ambedkar

(B)  Alladi Krishnaswamy
(C) Rajendra Prasad

(D) Gopalaswamy Ayyangar

Which was described by

- Dr. B. R. Ambedkar as the ‘heart and

soul’ of the Constitution?
(A) Right to Equality

(B) Right Against Exploitation
(C) Right to Constitutional Remedies

(D) Right to Freedom of Religion

Who appoints Secretary General of the
Lok Sabha?

(A) Deputy Sp'eaker

(B) Speaker

(C) President

(D) Leader of Ruling Party

The Government of India Act, 1935 was
based on

(A)  Simon Commission

(B) Lord Curzon Commission

(C) Dimitrov Thesis

(D) Lord Clive’s report

25

26.

2%

28.

Rfaf@a & ¥ Fid aRd Gy
&1 UIEqoT AT H FEET sTel AR

(A) N3 s

(B) 3Ty HeomEarHT
(© o S

(D)  ITETEEATHT 3HTAIR

ST, 3R, 39S o foed didwrs &1
TG IR HTCAT ST AT?

(A)  THATTAT & HATEDR

(B) ewoT & fa%g 3SR

(C) waenfaew 3UART HT RSN

(D) eref 1 Faedr & AR

AFHAT & Hgratad H YT DT
T 87

(A) 3ureHet

(B) a&aT

@ weufa

(D) HeaTeG & F AT

HRa R AFR@EH, 1935 fFd W
HTEMR 2T? :

(A) TTEHT HARS

(B) TS dhoted JTANT

(C) i daifew

(D) IS Farga @1 RAE
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29,
Py

30.. .

31

2.

33.

“ Japan Parliament is known as

(A) Diet
(B) Dail
(C)  Yuan
(D) Shora

Who was the architect of Taj Mahal?
(A) Ustad Ahmad Lahouri

(B) Norman Foster
(C) Henry Irwin
(D) ShahJahan

Indonesia was a colony of which of the
following countries?

(A)  Spain
(B)  Dutch
() Portugal
(D) Belgium

Which of the following is paired
incorrectly?

(A) Pannalal Ghosh —Flute

(B)  Guru Gopi Krishna — Kathak
(C)  Nikhil Banerjee — Santoor
(D) Nandalal Bose — Painting

The sum total of incomes received for
the services of labour, land or capital in
a country is called

(A) gross domestic product

(B) national income
(C) gross domestic income

(D) gross national income

29,

30.

3%,

32.

33,

ST T THE T el Sl 6 '
(A) ==

(B) Zar

(C)  J3meT

2

(D) e

oTT Fgel HT AREHR el AT?
(A)  3FaTE IEHE SRR

(B) aTael WIFET

(C) gl sfa=

(D) emgsTer

sefeRT Pefaa & ¥ forer & @
IUfAder 4
(A) =

(B) s

(C)  gewarmer

2

(D) e

Prefafag F @ #l @ Ted a0

Ser T g
(A)  ge=TeTTer ©IY - ST
(B) 1% @iy HUT - HUS

(C) TR weell - T

(D) scerer a1 F - REFERT

s, HfE ar el i dend F fov
mmmwaﬁwm&

(A)  Hehel B 3G

(B) wsdrr 3mr

(C)  weher Be] 3T

(D) el TSI HATS

10
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34, ~Clothes keep us warm in winter because | 34. U2 X gieal & T wa § s
; they F
(A) supply heat (A) a7t hr g
(B) do not radiate heat (B) a1HT Pt 7 ¢
(C) prevent air from contacting the (C) gar &r R & TUS H 3
body AF
(D)- prevent the heat of the body from (D) iR &1 IHT & TET PAwaa T
escaping JAF
35},4‘ Tesla is a unit of magnetic 35. &Fem ﬂaﬁ'q T Th SHS &
. (A) . Flux (A)  werrd
(B) Induction (B) szt
(C) Moment (C) =Fe
(D) Field (D) thies
36. The splitting of white light into its |36. edd UhIYr &l 3WHh Uchi H FHTST
components is due to RrE¥ HIOT BraT 7
(A) Reflection (A)  YhoTaeT
(B) Dispersion (B) faEqeleT
(C) Refraction (C) YFTepaeT
(D) Tranﬁmission (D) Eafae=
37. Which of the following metals is used 37. Twafaf@d # @ g urg & 3T
©  for the manufacture of heating. Rieerer seay 3 Suwey e aedt ¥
elements provided in electric iron? = :
A HAmT F fow BRI sar §?
(A)  Nickel (A)  To¥emer
(B) Chromium (B) wIfATH
(C) Nichrome (C) T
(D) Tungsten (D) EaTEEaT
&\ 11
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387

41.

Which treaty was signed on 28 June
19197

(A) Vienna

(B) Geneve

(C) Versailles

(D) Pearl harbour

_“Wallace Smith Broecker is the man who

coined and popularized which term?

(A) Post truth
(B) Green revolution
(C) Global warming

(D) Sustainable development

. _Which one of the following divides India

into Northern and Southern parts?

(A) Equator
(B) Tropic of Cancer
(C)  Tropic of Capricorn

(D)  Arctic Circle

Which one of the following countries
shares longest border with India?

(A) China

(B) Bangladesh

(C) Nepal

(D) Pakistan

38.

38.

40.

41.

285131919a$r%4ﬁ€1wmm
R I A7

(A)  faem

(B) fomwar

(C) @u

(D) ¥ BT

oo Ry sieX e wsg @ 3ifed

(A) drE F¥

(B) fteT Y@TelRme

(C)  oitaer @i

(D) EEETEE SeelTHC

gRa F1 Feadr R afEol swi A
frsmiford &Yl §

(A)  spre @

(B) =% x@r

(C) e Y@ & FoUTEHCaUT &
(D) i e

BreRfEd & @ @i @ &Y WRd &
AT TR T W TS AT &7
(A) ==

(B) SfecTeRr

(C) =drer

(D) wiferEdrsT

12
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42..~ A person to be qualified for standing in a

43.

a4,

45. ,

&

Panchayat election must have attained
the age of
(A) 21vyears

(B) - 18 years
(C) 25vyears
(D) 30vyears

_Cattles are capable of digesting cellulose

present in the grass and / or fodder that
they eat. This ability is attribute to the

(A) presence of cellulose digesting
bacteria in the rumen

(B) production of cellulose by the
rumen
(C) acids present in the rumen

(D) prolonged retention of cellulose in
the rumen

“Which of the following has the most

penetrating power?

(A) a-particles
(B)  B-particles
(C) y-particles

(D)  All of the above

“The blackboard seems black because it

(A) reflects every colour -

(B) does not reflect any colour

(C) absorbs black colour

(D) reflects black colour

42.

43.

44,

45.

TR TeE A T3 g & fav ey
AT 1 A (bl gt @ifge

(A) 21 a¥
(B) 18 a¥
(C) 25aw
(D) 30 ay

FIN I @R W SR A g

s/ = 3 Ao A F T

H HeTH gid gl g &TAdr

(A) = # d=ES TR A
Shamopit < sufeafy

(B) ¥ Z@RT egellsl T 3culeeT

(C) woaT 7 His[g s
(D) Wﬁ%ﬂﬂ‘mwﬁm
d& g1 TG

Aeafof@a # 4 gl S afead
(A)  o-zpoi

(B) = p-wuT

(C)  y-=por

(D) 3urera welr

sials safaT e REr 3T ¥

(A) & T FI WEfdd HLT &

(B) frelt s o1 &+ wuafda #dr
h{dl

(C)  apTer LT T AR ol &

(D) ey {or 1 wWrafdd &

13




19T &: AT STl

Part-A: General Awareness ANO07CGLT2023
46. Peroxyacetyl nitrate is a 46. YQFAUTACEd Agee U
" (A) acidic dye (A) 3T 315
(B) secondary pollutant (B) gfadaes "gyeh
(C) plant hormone (C) ureq gl
(D) vitamin (D) ferdeT
47. Members of the Union Public Service 47. HY Wk Har IR & G@SEdi ol
~Commission are appoi_nted by the ﬁﬂﬁ"? REF ZaRT #r T ¥72
(A) President - (A) Treeufa
(B) Prime Minister (B)  geIeTHAT
(C)  Chief Justice (C) <hrw SIfEeT
(D) Law Minister (D) . Srefet #AT
48. The total energy of an electron inside an * | 48.  Ueh GXATY & 3MeT U Solagiel B Fel
~ atom is FaT & 3
(A) zero (A) =T
(B) more than zero (B) =T T o 3{'@‘@-
(C) less than zero (C) ow & & &
(D) Infinite (D) 3teAar
49. A perfectly competitive market has 49. TH qUIC: gieeadt o # Aleg T
. “(A) onlyone seller (A)  Faer T fashar -
(B) atleast afew sellers - (B) wH A FH IO ICEXI
(C)  many buyers and sellers (C) w% @ier 3 fashdr
(D) firms that set their own prices (D) & Suferal S 3C= FHAT T
"50. Ina recessi.on, GDP 50. ¥ H, e
(A)  Grows negatively (A) FHRIcHF &7 & d&dl ©
(B) Grows slowly (B) efy-¢MY Sgar &
(C) Grows rapidly (C) I q 5T &
(D) None of these (D) zeTdl A HIS TRl

14




Part-B: General Intelligence

and Reasoning

ANO7CGLT2023 .

T W A giy 3T aF

i1 e P 1 B T | S E
PART-B: GENERAL INTELLIGENCE AND REASONING

517

52

53.

54.

If-'orange’' is called 'butter’, 'butter' is

called 'soap’, 'soap' is called 'ink', 'ink' is
called 'honey' and ‘honey' ‘is called
‘orange’, which of the following is used
for washing clothes?

(A) Honey
(B) Ink

(C) Butter
(D) Orange

Study the diagram given below and
identify the region representing girls
whq_are employed but unmarried.

Employed

Q,v‘

(A) 1
(B) 2
(C) 4
(D) 5

Four forms of a dice are shown below.
In this dice which digit will be on the
surface opposite to the digit 4?

51.

52.

i ARG F He@s @el ol g,
Horal ol AT gl STcll 5 AT
T TIE” FET ST ¥, T Y g
FET Sr g 3 'Uge’ P AR FET
ST g, o Refef@a 7 & T ar g
®US e & v 39T Ry Srar §7
(A) <Ee
(B) Tumw@r
(C) FF@e
(D) FAREM
J R v R & eI FYO3R
3 oSfhar @1 Uldfefticd el arel
ﬂ?aﬁrwﬁa’rwqm%‘ﬁm,
sifaarfea €1

Unmarried
(A) 1
(B2
() 4
{D)s5
53. U% U & IR &7 A @ v gl

0 9 H 3w 4 & faulla dag W
@ieT T 37 G

tulaplaplagg

) (ii)
7
(B) 2
(€] 3
(D) 5

The Minute hand of a clock is in
North-East at 4:30. Then in which

gjﬁecti'on the hour hand will be at 10:30?

(A) South
(B) North-West
(C) West

(D). North-East

(i)

54,

(A) -1

(B) < 2

(C). /'3

()5

UF " &1 fAee H gs 4:30 W
Seat-qd # gielt g1 ar fhy 10:30 It
g HT ge o e 7 grel?

(A)  gfaror

(B)  Fear-ufems

(C) ofgges

(D) Icar-gd
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95

56.

57

An~official meeting is attended by 130

“department employees. Of them, 66

drink tea, 56 drink coffee and 63 drink
juice, 27 can drink either tea or coffee,
25 can drink coffee or juice and 23 can
drink juice and tea. 5 employees can
drink any of the three. How many
persons drink only tea?

(A) 21
(B) 22
(€) 18
(D) 20

P,Q, R and S are four friends. P is

“shorter than Q but taller than R who is

shorter than S. Who is the shortest
among all?

- (A) P
(B) Q
@ R
(D) S

_Eight people A, B,C,D,E, F, G and H are _
“ placed as shown in the diagram. All are

facing in the outward direction. If all of
them move anticlockwise to three
places, then

(A) Bisfacing West

(B) Eis facing East

(C) His facing North-West
(D) Ais facing South

55.

56.

57.

TH ERe Sod A fFEET &
130 @ulr &M dd gl A W
66 = g & 56 w9 g 3R
63 o@ oI & 27 =W A @A
RS §, 25 HGr A1 @ O @Hd &
i 23 o 3T A @ wEA E
5 warard At F @ Fo o G gwd
¥| frder @eT Ao =g 9T 82

(A) 21
(B) 22
(C) 18
(D) 20

pQR3Isaw@EBTIE P, QF
AT & AfFT R @ ofeT § S S & aer
%‘tmﬂﬁmmm%’?_

(A) P
(B) Q
(€ R
(B) S

R & R 3EER 3 @ A, B,
C. D, E, F, G 3R H & @ amr gl
Felr A 7 3N FEAw g AfE 9 Wl
qATad fem # i TUE WO d

(A) B @ 7@ uftad H IR T

(B) E qd Reew & @@ ¥

(€) Hmﬁuw-qf%ﬂaﬁ‘rm%
(D) A @ 7@ afEror I 3R &

16
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Question no. 58 to 60.

In each of the questions below are given three statements followed by

three conclusions numbered I, Il and lll. You have to take the given statements to be true even if

they seem to be at variance from the commonly known facts. Read all the conclusions and then

decide which of the given conclusions logically follows from the given statements disregarding

commonly known facts.

¥ TEAT. 58 ¥ 60. mﬁmwmma#mﬁmaﬂtﬁ%ml 3l Nl #&fFa
e sy Be 7w &' | 3maA BT T Fy=il F TF AT g, Ho @ § FATGS: AT gL F
e udia g1 gfl a3l vt & 9¢ 3t Y ao & 5 Ru av Teast & & sla @1 g
A Tt F AT T §T R T Feww w1 e & ¥ S wr

58. Statements: All dolls " are windows.

All -bottles are windows.
All cars are bottles.

Conclusions: I. All cars are windows.

Il. Some cars are dolls.

lll. Some windows are cars.

(A)  Onlyland Il follow
(B)  Only Il and 11l follow
(C) - Only I and Il follow
(D)  All follow
59.  Statements: All snakes are trees.
Some trees are roads. All
roads are mountains.
Conclusions: I. Some mountains are
snakes.
Il. Some roads are
snakes.
Ill. Some mountains are
trees.
(A)  Only | follow
(B)  Only Il follows
(C)  Only 1l follows
(D) Both land I follow

58.

59.

woer W afa fsher )

draer fEsfear 81 @l &R
s 1. weft s st g

Il. F& F e g

lIl. % EsfRar SR &
(A)  aer | AR 1| 3TEROT A §
(B)  aer Il 3R Il STEROT I &
(C)  aer | 3 11l 3FETEROT A 8
(D) el 3reTeroT

weuw. @ @0 95 # 3O 93 6
g1 @ T5h TETS ¢

forses: |. & ugls @7 ¢
Il. T w5 A
lll. $& 985 95 ¢

(A)  Saer | T HTETOT AT §
(B) et Il T 3TEXOT AT &
(C)  arer 11l & JFTETOT AT &
(D) 1 3% Il i 3EROT FT &

17
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60.

Statements: Some towels are brushes.
No brush is soap. All soaps
are rats. :

Conclusions: |. Some rats are brushes.

Il. No rat is brush.
[Il. Some towels are soaps.

(A) None follows

(B)  Only either I or Il follows

(C) Only Il follows
(D) Only 1 and il follow

60.

Yo HO il S Tl CoESICR
T g §. |l AT T ol

sy | Fo g I E
|l FE T 9 G B
lll. Fo difee @1g &l

(A) @IS IFTELOT oG LT

(B) e ar ¥ | AT Il 3TEROT HA
3 ' |

(C)  &erel II 3eTEROT T ©

(D) aer | 3R 1l TEROT A &

Question no. 61 to 63 In each of the follow%ng questions, a number sequence is given in which

except one of the terms in the sequence are alike.

in the sequence.
weeT Wedl. 61 & 63, T=F WoT 3 U WEAT g R e § Rt g A 0 HOBIEH

sl wg wAE ¥ IR qE GEAT G FEA § S g 7 e g

You have to find out the number which is odd

61.  8,27,64,125, 216 61. 827,64, 125, 216
A 27 (A) 27
(B) 64 (B) - 64
(C) 125 (€) 125
(D) 216 (D) 216
62. 24 18,222,82,421 62, 24,18,222,82,421
(A) 18 (A) 18
(B) 222 (B) 222
(C) 82 (C) 82
(D) 421 (D) 421
63. 2,6,12,72,824 63. 2,6, 12,72,824
(A) 6 ' (A) 6
(B) 12 (B) 12
() 72 () 72
(D) 824 (D) 824

18
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64. A taxi driver commenced his journey 64. UF TFAY Ul o T ﬁ';‘(@ T 39T
int ar k
from a point and drove 10 km towards T 4w £ 3 10 Rl 3eaw &7 3%
north and turned to his left and drove :
another 5 km. After waiting to meet a 5
friend here, he turned to his right and 3N Teml Igl UF aed d Ao #
continued to drive another 10 km. He ST &% & 916, 98 3Tl IRGI
has covered a distance of 25 km so far, e 5z st 10 Bl sk T
but in which direction would he be
_ AT 9E IS aF 25 TRt gl au
now? )
AT T §, Afher 31 a8 e e A
© BIem?
(A) North (A) Few
(B) East (B) q“-ci'
(C) South (C) zfaror
(D) West (D) ufREs
65. Today is Varun’s birthday. One year |65. 3/aT @®ul & SeHiGe o. 3Ms & UH
from today he will be twice as old as he a‘li' — & el 12 3§ B %r g
was 12 years ago. How old is Varun _
¥ Sl g SREl| e 9% T 3A
today? =
foraetr &2
(A) 20 years (A) 20 a¥
(B) 22years - (B) 22 a¥
(C) - 25vyears (C) 25 a¥
(D) 27 years (D) 27 a¥
& 19
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66.

67.

68.

Kim-can do a work in 3 days while David

“can do the same work in 2 days. Both of

them finish the work together and get
Rs. 150. What is the share of Kim?

(A) Rs.40
(B) . Rs.60
(C) Rs.70
(D) Rs.75

In a certain code, ‘CONVENTIONAL' is
written as ‘NOCNEVOITLAN’. How is
‘ENTHRONEMENT’ written in that code?

(A) TNEROHEMNTNE
(8) TNEORHMENTNE
(C)  NTEROHEMNNTE
(D) TNEROHEMNNTE

Select the missing number from the
given responses.

(o] )
NI

(A) 64

(B) 121
(c) 381
(D) 100

66.

67.

68.

fr Uw FA @ 3 AT A BT TR
& Safe 2R 3@ @@ & 2 e A
X Fewdr gl aml fAdEt wE
Fra ¥ 3t 150 T i §1 FRA @
foea e 87

(A) 5. 40

(B) . 60

(€ % 70

(D) % 75

uF @faa #15 #, ‘CONVENTIONAL’

# ‘NOCNEVOITLAN' & & &
B Ser ¥ 3@ @s A
‘ENTHRONEMENT’ && for@r Sirar
g7

(A) TNEROHEMNTNE
(B) TNEORHMENTNE
(C)  NTEROHEMNNTE
(D) TNEROHEMNNTE

frw o Feki A ¥ T HEAT FH
TaT |

(A) 64
(B) 121
() 81
(D) 100

20
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69.  If in-a code, MIND becomes KGLB and 69. i MIND frdr 2 #, KGLB &
‘ARGUE becomes YPESC, then what will Ser & 3R ARGUE et @is &
DIAGRAM be in that code? 3
YPESC &« SIdr & , @ 39 @8 H
DIAGRAM =T gIeT?
(A) BGYEPYK - (A)  BGYEPYK
(B) BGYPYEK (B) BGYPYEK
(C) GLPEYKGB (C) GLPEYKGB
(D) LKBGYPK (D) LKBGYPK
70. If 'eraser' is called 'box', 'box' is called 70.  Ify 'SWER' Hr GlEd FHel Sr -4
7 pencil', 'pencil' is called 'sharpener’ and it & SR @er Smar ¥ SR
'sharpener' is called 'bag', what will a ‘
s Ll FT 'ATIAT FET ATl § 3R 'UTIeR @l
child write with? _
‘YT FET S §, dF dear fREd
or@am?
(A) Eraser (A) =g
(B) Box (B) afrw
(C) Pencil (€ dfae
(D) Sharpener (D)  emdaR
7L EQEER= 12215 and HIGH = 5645, how |71. 3ff DEER = 12215 3i¥ HIGH =
i ?
willlyou EodglHEEL 5645 ¥, o 319 HEEL @ 4 $iia
FLAT?
(A) 2328 (A) 2328
(B) 3449 (B) 3449
(C) 4337 (C) 4337
(D) 5229 (D) 5229
& 21
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72.

73.

74.

75,

76.

(D)

In a row of trees, a tree is 7" " from left
“ond and 14" from the right end. How
many trees are there in the row?

18
19
20
21

(A)
(B)
(C)
(P)

If the time in clock is 12 : 23. What is the
“time in the mirror?

[A) - 12:38
(B) 11:37
{C) 12:37
(b1 328
Raw and Priyanka celebrated their

anniversary on Friday, 4 February 2005.
When would they celebrate their next
anniversary on the same day?

(A) 2009

(B) 2011

(C) 2015

(D) 2010

Ais the brother of B, C is the father of D,
E is the mother of B. A and D are
brothers. How is E related to C?

(A)  Sister
(B)

(€)

Sister-in-law
Niece
Wife

Six-members of a family namely A, B, C,

“D, E and F are travelling together. ‘B’ is

the son of C but C is not the mother
of B. A and C are married couple. E is the
brother of C. D is the daughter of A. Fis
the brother of B. How many male
members are there in the family?

(A) 3
(B) 2
() 4
(D) 1

72.

73.

74.

75.

76.

Yet &1 Ts dfFd &, Uh 95 a0 BN 4
7§ 3R @d B ¥ 148 T 9 B

ufFa & fhasr 98 87
(A) 18

(B) 19

(C) 20

(D) 21

afg oy & @HT 12 : 23%a’rac‘rUTﬁ
AT FAT 87

Ay 12:33

(B) 11:37

(€) 12 :37

(D) 1:23

da AR Reier & g@aR, 4wl

2005 T 39T ATERRE Al d I

R 3T 39TET ATGHIRG FF FATN?

(A) 2009
(B) 2011
(C) 2015
(D) 2010

A,Ba:rsqé%,C,Da#rﬁaT%,E,B‘

AN ANRDMWETECT

(A)  §geT
(B) st
(©  srelrslr
(D) gl

w aReR & ©F daxd IR A, B,

C. D, E 3R F us @y Il & W
¥ 'B' C @ deT ¥ AfFeT C, B & A
&t ¥ A 3R C fafea SIS &1 E, C
w oS ¥ D, AR IR F BEA

a8 %) IRER #F e oY Hawd §?

(A) 3
(B) 2
(C) 4
(D) 1

22
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In questions no. 77 to 79, a series is given, W|th one term missing. Choose the correct alternative
from the given ones that will complete the series:

geeT WEAT H 77 W79 Ok, UH A@ar df M B, mﬁwwm%lmmﬁrﬂ##aﬁaﬁ

e Tat Y Sl I IR FHI:
77.  SHG, RIF, QJE, PKD, ?
f (A)  NME
(8) NLB
(C) OLE
(D) OLC
' 78, ~7.8,18,57, % 1165
(A) 174
(8) 232
(C) 224
(D) 228
79. 1,0,3,2,5,6,? 12,9,20
A 9
(B) 10
) 7
(D) 8

77,

78.

79.

SHG, RIF, QJE, PKD, ?

(A)  NME

(B) NLB

(C) OLE

(D) OLC
7,8,18,57,?, 1165
(A) 174

(B) 232

() 224

(D) 228
1,0,3,2,5,6,7,12,9,20
(A) 9

(B) 10

. 7

(D) 8

In questions no. 80 to 84, select the related word/letters/number from the given alternatives:
w9 HEAT & 80 ¥ 84 I, U v R[eFedl & ¥ Gl Uscl3ETUHEIT FH AT P

80. 720:840::60:7 80. 720:840::60:7
(A) 76 (A) 76
(B) 80 (B) 80
(C) 70 -(€) 70
(D) 74 (D) 74

81. 225-:256::289:7? 8l.  555.756::289:?
(A) 234 (A) 234
(B) 361 (B) 361
() 324 (C) 324
(D) 432 (D) 432

82. Money : Misappropriation : : Writing : ? 82. &7 : gUHY : ;T ?
(A) Deception (A) o=
(B) Mistake (B)  arordr
(C)  Plagiarism (€  wmfgfcas amlr
(D) Theft (D) =dy

& 23




Part-B: General Intelligence

and Reasoning AN07CGLT2023 T T TAEE Y 3N aF
83.  YTOJ:XSNI:: WRMH :? 83. YTOJ:XSNI::WRMH:?
(A) VQLG (A)  vaLG
(B) TOIE (B) TOIE
(C) RMHC (@ RMHC
(D)  UPKF (D)  UPKF
84.  EIGK:EACY::RVTY:? 84. -EIGK:EACY::RVTY:?
(A) RVSQ (A)  RVSQ
(B) RNPL (B) RNPL
(C) RwuUY (C)  RwWUY
(D) RMPL (D) RMPL

Question no. 85 to 88. Study the given diagram carefully and answer the questions where
rectangle stands for business man, square stands for hard working, trlangle represents artist and
circle represents singer.

wesT HEAT. 85 ¥ 88. mwmmtmmwﬁaﬁrmma;mammw
3t} eqgurY =afda g, aﬁmaﬁaﬁ&ﬂﬁam% BT FaPR F Sfaferfed wtar § 3T
gea TS F1 fafafed war ¢

85.

86.

f A2 \#]
9

What is the number of hardworking 85. UQ Agad cygaiddl fr gEdr fehdsr
b.usinessmen who are artist but not ¥ o FaeR ar ¥ Afee e
singer? %
(A) 12 (A) 12
(B) 8 (B) 8
(€ 7 € 7
(D) 9 (b)) 9
How many singers are hard workers but 86.

not artist and businessman?

(A) 6
(B) 4
(C) 8

(D) None of these

AT cggar FE §7
(A) 6

(B) 4

() 8

(D)  Z=TdT & Mg Gl
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87. What is the sum of the numbers which 87. 37 TEATHT T TT &7 § I had
represent only businessman and only IgErT 3 Fael T FT 2§72
singer?
(A) 13 (A) 13
(B) 12 (B) 12
(C) 16 (C) 16
(D) 14 (D) 14
88.  Howmany persons have all the four? 88. fohaer =ufFaal & 9 ¥ ORI 87
(A) 12 (A) 12
(B) 9 (B) 9
() 2 () 2
(D) 4 (D) 4
89. A watch which gaihs uniformly, is 89. UH U &I AT T H dedr g,
2 minute slow at noon on Monday and THaR # et & 2 e o gl
4 minute 48 second fast at 2:00 p.m. on y ) :
the following Monday. What time it ¢ 3N . S 2:00 &t ‘
ways correct? 4 TAec 48 Qs AT g1ar gl I8 e
TAT TEI alh ¥ Tl §7?
(A)  2:00 p.m. on Tuesday (A)  FHareraR grag 2:00 &
(B)  2:00 p.m. on Wednesday (B)  seram aruex 2:00 &
(C)  3:00 p.m. on Thursday (€)  IEar aTex 3:00 st
(D) = 1:00 p.m. on Friday (D) gehar amgY 1:00 saF
90. How fnany times do the handsofaclock |90. ws fea & war &6 H‘\s?ﬁ CGINCIES
“point towards each other in a day? C ?:’gﬂ'l‘ # 3 SART FEA &2
(A) 12 ' (A) 12
(B) 20 (8) 20
() 22 () - 22
(D) 24 (D) 24
91. A -monkey climbs 30 feet at the |91. usH & Ycdd ©C M I H
w2 it He S nch 20Ther Eutore L e R e
he again starts ﬁlimbing in the beginning ASUEAREAY 20 Hre de
of the next hour. If he begins his ascent ¥ 3R s "6 HT gesa A R
at 8:00 a.m., at what time will he first AT A& X &l %‘ gfe a8 gae
tc;glcjt\]d? flag at 120 feet from the 3. 00 = 37qer Ter o war &, ar
B o T qg-c# Sefe § 120 Bre &
Fas W feud =3 & fRE GHd
SUI?
(A)  4:00 p.m. (A)  4:00 yarest
(B)  5:00 p.m. (B) 5:00 watest
(C)  6:00 p.m. (€ 6:00 qa‘fé?r
(D) None of these D) o ﬁ HIS BT
& 25
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82,

a3.

94.

Rajesh walks 7 km to the north then

“turns left and walks 3 km. Then takes

another left and continue walking this
time another 7 km forward. How much
distance in km is he away from the
starting point?

(A) 10 km
(B) 6km
(C) 3 km
(D) 2km

A group of 1200 persons consisting of

““captains and soldiers is travelling in a

train. For every 15 soldiers there is one

captain. The number of captains in the
group is

(A) 85
(B) 80
€} 75
(D) 70

An enterprising businessman earns an
income of Re. 1 on the first day of his
business. On every subsequent day, he
earns on income which is just double of
that made on the previous day. One the
10t.h day of business, his income is

(A) Rs.29
(B) Rs.210
(C) Rs.10
(D) Rs. 102

92.

93.

94.

oY 7 T 3eak fr 3R e §
s arff 3T Asar & 3R 3 el
Tordm &1 R 918 3R A3 3R 37 SR
7 fper 3 T S W 98
TR fig & Rl A Bl gl W
g2

(A) 10 fm.am.
(8) 6 fR.AN.
{€) 3 e
(D) 2 frah.

Foed AR W@ @ FEA
1200 STfFaal &1 TH HHE Uh ool A
IET RO Bl TdE 15 WfAH W
Teh $heesT BT &1 WHg H Sl
e §

(A) 85

(B) 80
(€ 75
(D) 70
Th 3eIAYE IIHR HUA gaarg

¥ gga R ww 0¥ f 3 A
AT & | YA et fad, @ 3
Hog war & oS 5 Ao e &
qer # Qe B1 cgaard & 109 o
SHET T B ¥ |

(A) = 29
(B) 3. 210
(© % 10
(D) %. 102
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95. Select the missing number from the 95. fRU 9T Icad H H oI EAT T

given responses. s Y
11\(77 ZYT 41Y?
. 88 108 148

(A) 97 (A) 97
(B) 107 () 107
(C) 189 (C) 189
(D) 67 (D) 67

96. Complete the series: 96. al@'a'r q“fr H
81, 69, 58, 48, 39, ...... 81, 69, 58, 48, 39, ...
(A 7 (A) 7 '
(B) 10 (8) 10
) 22 cy 22
(b)) 31 (D} 31

- 97. Write the next rnumber in the series: 97. a]t_'@aT  37Te TEAT o

23 Sy Bl o 2,5,4,9, 8, 15, ..
(A) 14 (A) 14
(B) 27 (B) 27
() 81 (c 81
(D) 36 (D) 36

5N | 27
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98.

29.

100.

(B)

In a town, 65% people watched the
40%
newspaper and 25% read a newspaper

news on television, read a
and watched the news on television
also. What percent of the people
neither watched the news on television

nor read a newspaper?

(A) 5

(B) 10
(C) 15
(D) 20

Sumitra has an average of 56% on her
“first 7 examinations. How much she

should make on her eighth examination
to obtain an average of 60% on 8
examinations?

(A) 88%

78%

92%

68%

(€)
(D)

A rectangular carpet has an area of

60 sq. m. If its diagonal and longer side
~ together equal 5 times the shorter side,

the length of the carpet is

A)

8&m
(B) 12m
{C) 15m
(D) 14.5m

98.

99,

100.

Th el H, 65% @ Celided W
AR &&d 8, 40% oler AR 9
yed & 3R 25% @eT FATER 9T 9ed
§ 3l eifaee W ol FEER ¢Ed ¢
fpaey gfaerd @97 o ar Zellidele 9
FAER ey ¥ 3R A & IR Ted

87

(A) 5
() 10
(C) 15
(D) 20

gﬁrmwaﬁqﬁ?wwaﬁﬁ
mﬁsa%%;sqﬂmﬁﬁm
60% 3i& UIcd & & ToIT 39 39ell

Jredt TliET & RRaeT FAET a1fRu?

(A) 88%
(B) 78%
(C) 92%
(D)

68%

wmm—oﬁ?wmﬁsoﬁ
afex &1 At gae ot 3R el age
ﬁmmgma?salmaww
&Y, al @l &I oS &

(A) 8 #r

(B) 12 #r

(C) 15 #r

(D) 14.5 #r
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14T 9T; HEATcH® A gdl
PART—C: NUMERICAL APTITUDE

101. If x and y are integers and x + y is even, 101. 3gfg x 3Ry goiies & 3 x + y @A
” 7 . o “ i
which of the following must be even: ¥ o PefafET § ¥ el @ o "
BT AMET?
(A) (A)
(B) vy (B) vy
(C) xy (C) xy
(D) x(y+1) (D) x(y+1)
102.  The sum of place value and face value of | 102. 43836 # ¥Tueg A 3N 3ifha A1
8in 43836 i.e. 8 T AT 3T
(A) 88 (A) 88
(B) 808 (B) 808
(C) 880 (C) 880
(D) 888 (D) 888
103. The sum of natural numbers which are 103. 39 SiTehe a3t &1 9T S 100 &
divisors of 100 is ot &
(A) 116 (A) 116
(B) 117 (B) 117
HE)- 21 (€ 21
(D) 217 (D) 217
104.  When % of a number is subtracted from | 104. S« % fRdY &I #§ O TH §&A1 el
the number itself, it gives the same & St g, o @5 e & el IO
value as the sum of all angles of a ¥ 9T & TAT AW uea & ¥
triangle. The number is .
: TEAT &
(A) 224 (A) 224
(B) 210 (B) 210
(C) 140 (C) 140
(D) 120 (D) 120
oS 29
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105.

106.

107.

4

()

(A)

3 of E of L of 1664 is:
6 10

(A) 648
(B)

(€)

762
612

728

1 .
2 part of a pencil is black and % part of

remaining is white. If the remaining part

1
is blue and length of blue part is 35cm ;

then length of pencil is:

6cm

(A)
(B) 7cm
8cm

(€)

9cm

(D)

The value of 0.142857+0.285714 is :

1

2
(B) 1

3
) 2
(D) 10

105.

106.

107.

1664 & '1?6 e %ﬁ@r %g
(A) 648
()
(©)
(D)

762
612
728

é—wﬁﬁamwwm%aﬁ?

%aﬁﬁmaﬂw—d%‘laﬁ‘@rﬂrm;ﬁm

%mmmﬁm%m%y
ar 9ffer 1 F9S g

(A) 6 @HT

(B) 7 ¥
© 8w

(D) 9 |a

0.142857+0.285714 &1 A &:

(A)

B

(B)

N o

(€)
(D) 10
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108.

109.

110.

111.

“length s

The diameter of a roller is 84 cm and its
: 120 cm. it takes 500
revolutions to move once to level a
playground, then the area of playground
is

1632 m*
1584 m*
1817 m*
1532 m”

(A)
(B)
(€)
(D)

A sum of Rs. 1521 is lent out in two

“parts in such a way that the interest on

one part at 10% for 5 years is equ_al to
that of another part at 8% for 10 years.
What will be the two parts of sum?

Rs. 926 and Rs. 595
Rs. 906 and Rs. 615
Rs. 916 and Rs. 605
Rs. 936 and Rs. 585

(A)
(B)
(€)
(D)

A person bought 8 quintals of rice for

~certain rupees. After a week, he sold

3 quintals of rice at 10% profit, 3 quintal
of rice with neither profit nor loss and
2 quintals at 5% loss. In this transaction,
what is the profit?

1.5%

2%

2.5%

None of these

(A)
(B)
(C)
(D)

A merchant had 50 kg of pulse. He sells

“one part at a profit of 10% and other at

5% loss. Overall, he had a gain of 7%.
Find the quantity of pulses, which he
sold at 10% profit and 5% loss.

(A) 40kg, 10 kg
(B) 40kg, 15 kg
(C) 40kg 12kg
(D) 40kg, 9kg

108.

108,

110.

111.

T Aol &l ATH 84 THT & 3R s
Sas 120 [T &1 v Qe F AGA Al
AT S & QU TR SR Toled A
500 @eFHT ofdld @, df @el & Haled

T STFA &

(A) 1632 #Hre??
(B) 1584 #Hrex®
(C) 1817 #HreT?
(D) 1532 #Hrer?

1521 T9¥ fr Ul & ar den H 5@
g FUN AT S1ar g o Tk $HRT W
5 gyt & fow 10% @1 4T g &7
g7 10 aut & U 8% & AN &
ST 81 6T & &l HET il F g7
(A) 3. 926 3R % 595
(B) % 906 3R % 615
(C) ¥ 916 31X %. 605
(D) . 936 3R %. 585

waaﬁ?r#gmmﬁsﬁ—q‘m
grad @iEll U Iodlg & 496, 39
3 f@dea @ 10% o W, 3
Facer aad o aF o 3T 7 & g
W 3R 2 Fded gEd 5% gl W
99Tl ST oled-&eT H, W7 FAT 87

(A) 1.5%

(B) 2%

(C) 2.5%

(D) =13 & HIg Al

TH AN & 9 50 el grer AT
gg UH 9T A 10% A 9 3R gw
T 5% @Ife 9 ST gl Pl AR
ﬁ?%m.tﬁmargmlaﬁﬁﬂm
T HoT, T 387 10% @6 3K
5% gIfel uX STl

(A) 40 TFelt, 10 ToRall

(B) 40 foer, 15 fomall

(C) 40 fopelr, 12 fFell

(D) 40 foram, 9 fram
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112.

113.

114.

115.

The pair of numbers which are relatively

' prime to each other is:

(A) (68, 85)
(B) (65,91)
(C) (92, 85)
(D) (102, 153)

6 : .
Moving t]‘ of its usual speed a train is

”

10 min late. Find its usual time to cover

the journey.
(A) 25 min
(B) 15 min
(C) 35 min
(D) 60 min

The HCF of (x® - x* - 2x) and (x* + x%) is:

(A) %2 - x2 - 2x

(B) | X +x
Q)  x*r-2¢
(D) x-2

How - many three-digit numbers are

‘there which increases by 396 when the

first and last digit of the number is

interchanged?

(A) 57

(B) 50

€ 45

(D) None of the above

112.

113.

114.

115:

(®)

TEAI3T F 98 IIA ST UH g b
TALTIR ST &

(A) (68, 85)

(B) (65, 91)

(C) (92, 85)

(D) (102, 153)

MWﬁﬁg'wﬁﬁaﬁ
arell T ¢ 10 Feie S & Ferdr gl

IET T el B AT TAT AT
EAIE I

(A) 25 &=

(B) 15 TH=ic

(C) 35 T

(D) 60 feTT

(¢ =x*-2x) 3 (x3+x?) &1 HCF § :
(A) X -x*-2x
X%+ x
whod 2

Xx—2

(C)
(D)

gger 3R A 3 @ 39w H age
o 396 #T g A &2
(A) 57

(B) 50
(C) 45

(D) sot & F§ o gt
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116. The Unit's digit of the given 116. T 9T suateh 785 x 567 x 970 &y
’ . 5562 256 1250 ..
expression78”" x 567" x 97 s m T 37F &
(A) 6 (A) 6
(B) 5 (B) 5
(€ 4 ) 4
(D) 3 (D) 3
117. Each face of a cube can be painted in 117. 9 & YA Hodew i @lel T T
 black or white colour. In how many LT & 197 ST GehaT ¥l O &1 feRder
different ways can the cube be painted? 5 3t e %2
(A) 9 (A) 9
(B) 10 (B) 10
(€} : 11 (c 11
(D) 12 (D) 12
118.  What will be the remainder if 468 is | 118. afg 468 @1 192 ¥ ofaa fhar smo
“divided by 1927 ar SIer FAT BT
(A) 16 (A) 16
(B) 49 (B) 49
(C) 64 (C) 64
(D) 21 (D) 21
119.  Let N = 3029282726..4321 be a larger | 119. =T N = 3029282726.4321 U& oI
~ number. What will be the remainder FEar ¥ o9 N @ 9 ¥ fenfera e
when N is divided by 97 :
. - ¥ ST ar AV FAT gEM?
(A) 5 (A) 5
(B) 6 (B) 6
7 ) 7
(D) 8 (D) 8
o& 33
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120.

121.

122.

" fractional

A rectangular courtyard 3.78 meters

long and 5.25 meters wide is to be
paved exactly with square tiles, all of
the same size. What is the largest size of
the tile which could be used for the

purpose?

(A) 14 cms

(B) 21cms

(C) 42cms

(D) None of these

is written in simplest
the

numerator and the denominator is?

When 0.36

form, sum of the

. (A) 34
(B) 45
(© 114
(D) 135

Which is the closest approximation to

‘the product

0.3333x 0.25 x 0.499 x 0.125 x 24?

A 1
, 8
(B) 3

n
© 3

8
) 2
- 5

120.

121.

122.

()

3.78 Hiex @9 3iX 5.25 A 93 vH
ITARR AT & ose  |qAT
PR &I Fep ESell | ehr fham
ST §1 TSl &l Jad 8T 3R &7
%ﬁmmﬁwﬁwa‘nﬁvm
ST TehaT §?

14 |+

(B) 21 &=

(€ 42 ¥

(D) go1d & g ET

ST 0.36 F GedH Pelen®s &7 &
forar Smar &, ar 3ier 3% g% & @
gl &7

(A) 34

~(B) 45

(€
(D)

114
135

39S 0.3333 x 0.25 x 0.499 x 0.125 x
24 &1 Awead gfedtsed S ar g2

(A)
(B)
(€)

(D)

N o|lw h|lw 0|k

34
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123.

124,

125:

126.

If five times the fifth term of an AP is

7 equal to seven times, the seventh term

of the AP, then what is the twelfth
term?

(A) -1
(8) 0
€ 1

(D) -2

If m is a positive integer and m® is
divisible by 48, then what is the
minimum possible value of m?

(A)
(B)
(€ 12
(D) 24

Three candidates contested an election
and received 1136, 7636 and 11628

votes respectively. What percentage of |

the total votes did the winning
candidate get?

(A) 57%

(B) 77%

(C) 80%

(D)  90%

The sum of four terms in an AP i; 64.
The product of the extreme terms is
220. Find the first and fourth term.

(A)
(B)
(€
(D)

14, 28
10, 22
28, 14
6,30

123,

124.

125

126.

aﬁﬁiﬁrAPé?trméqawqiﬁﬂ?n,
AP & Id 9e & ATd AT & SRR
¥, dr IRgdl ug 4T 82

(A) -1

(B) O

(© 1

(D)

I m vE GeTeRs qoitE § AR m?,
48 ¥ RQesT § @ m & FgAaH
T AT AT 872

(A) 6

(B) 9

() 12

(D) 24

Ao 3Rt & R TeAE o8l 3R
3¢ HAT: 1136, 7636 3R 11628
alc gred gul el 3FAeaR &I Sl
Al &1 frgem gfaea urca g3m?

(A) 57% '

(B) 77%

(C) 80%

(D) 90%

TH AP H IR UGl H ART 64 g
e wEl Hr IqUEHA 220 ¥l gEem
3y Tt g T AT

(A) 14,28

() 10,22

(C) 28,14

(D) 6,30
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127.

A number when divided by a divisor

““leaves the remainder 24. When twice

128.

the original number is divided by same
divisor, the remainder is 11. The value
of divisor is

(A)
(B)
(€)
(D)

13
59
36
37

The-breadth of a rectangle is 25 m. The

“total cost of putting grass bed on this

129.

field was Rs. 12375 at the rate of Rs. 15
per sq m. the length of rectangle is

(A) 27cm
(B) 30cm
(C) 33 cm
(D) 32cm

A common factor of [(41)® + (43)®] and

eyt + (43)"] is:

130.

(43-41)
[(41)* + (43)*]
[(41)* + (43)%)
(41+43)

(A)
(B)
(€)
(D)

If the areas of three adjacent faces of a

“cuboidal box are 120 cm? 72 cm? and

127.

128.

(B)

129.

130.

U HEAT I e F [@afad s
W AYH 24 TAAT &1 & Hel dEAT
HT e S Aol & faenfId e
97 AYRS 11 37aT §1 ATl &1 Al

T

(A) 13
(B) 59
(C) 36
(D) 37

TF HAT &7 dles 25 Hlew gl 89

 Hee W A #T fSEaR W9 N e

AT 15 T ufd o ST X F

12375 FUF T, HET T d9ES &

(A) 27 @&
30 @
33 @

32 @A

(€)
(D)

[(41)% + (43)%] and [(41)" + (43)"]

& TF A JOEES &
(A) (43-41)

(B) [(41)" +(43)™]

(C) [(41)® +(43)%]

(D) (41+43)

IJfer TF gAEHR f@ed & A e

60 cm” respectively, then the volume of wehl  FTAEGT 120§ @z‘ﬂz,
box is : ’ 72 AP 3T 60 wAe: THAP, o S
HT 3TId g
(A) 820cm’ A) 820 T
(B) 720cm’ (B) 720 o
(C) 750cm’ © 750 a0
(D) 850cm? (D) 850 A
36 <
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131. If a number is multiplied by three - 131. ofr frey d@war & 3§F dF-a9eE T
“fourth of itself, the value thus obtained SO BRaT ST &t uTed AT 10800 ¥
is 10800, the number is: 2 ’ ’
TET &
(A) 210 (A) 210
(B) 180 (B) 180
() 120 (C) 120
(D) 160 (D) 160
132. Twice the difference between tWo 132. g1 gEanit & & & AR FT a?FT
‘numbers is equal to their sum. If larger 3% AT F aeT Ilﬁ( 5 T
number is 15, then another number is: . '
15 8, ar gudl ¥ &
(A) 12 (A) 12
(B) 10 (B) 10
(C) 5 (C) 5
(D) 9 (D) 9
133. If the area of a regular pentagon is 133. gfe v HI@Ea qzraisr FT SIBd
12543 sq cm, then length of each side - 1253 aoF T &, O g@AF Har Hr
is: ' ECIER
(A) 15cm (A) 15 @=T
(B) 16cm (B) 16 @Y
(C) 10cm (C) 10 @Y
(D) 25cm (D) 25 |HT
134. Three cubes of sides 1cm, 6 cm, 8 cm 134. 1 @AY, 6 YA, 8 TWAT 31:—3‘[3# arer dia
“are melted to form a new cube. Half of At T ﬁ'EI?ﬂEhT UF AT T ST
surface area of new cube is:
ST ¥l S °eT FT TET HAG ETABA
&
(A) 243 cm’ (A) 243 a7
(B) 463 cm’ (B) 463 {HA?
(C) 486cm’ (C) 486 T+
(D) 493 cm’ (D) 493 FH?
& 37
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135.

136.

137.

138.

Q)

What is the unit digit in (3% x 67 x 71)?

(A) 6
(B) 4
€ 2
(b) 1

The sum of 5 consecutive even numbers
A, B, C, D and E is 130. What is the
product of A and E?

(A) 720
(B) 616
(C) 660
(D) 672

If a number is exactly divisible by 11 and
13, which of the following types the

number must be?

(A)
(B)

Divisible by (11 + 13)
Divisible by (13-11)
Divisible by (11 x 13)

(D)  Divisible by (13 + 11)

The LCM of two numbers is 20 times of

‘their HCF and (LCM + HCF) = 2520. If one

number is 480, what will be the triple of

another number?

(A) 1200
(8) 1500
(C) 2100
(D) 1800

135.

136.

137.

138.

- (©)

(3% x 6% 7'Y) & SHS 3iF FAT§ ?
(A) 6
(B)

= N B

(D)

5 AR ¥ eIt A, B, C, D
A E & T 130 &1 A 3R E &
Ww%‘?

(A)
(B)
(€)
(D)

720
616
660
672

afg w5 "ear 11 3R 13 & qoia
forsar &, & a5 wewr el &

o RE YR I gl TR
(A)  (11+13) & fasmsar
(B) (13-11) & fasnsa

(€)
(D)

(11x13) ¥ fasmsw
(13+11) & Rsresw

ar "eEansit & LCM 3ad HCF T 20
I & 3T (LCM + HCF ) = 2520 &l
IfE ek wEdr 480 §, dr gl weAr

<l 30T 7T grem?
(A) 1200
(B) 1500
(C) 2100.
(D) 1800
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139.

140.

141.

142.

A five-digit natural number- s
considered and is divided by the sum of
the digits of the number. What can be
the highest possible ratio?

(A) 22222
(B) 9090.9
(C) 9999

(D) 10000

If an eight-digit number 537867AB is

“divisible by 6 or 7 or 9, then what is the

value of ordered pair (A, B)?

(A)  (3,6)
(B) (9, 6)
€ (7,2)
(D) (5, 4)

A merchant mixes water in purest form
of vinegar and sells it at the cost price. If
he sells 2 litres of the mixture at Rs. 110
and gains 22.22%, find the quantity of
water in it before selling?

36379 ml
363711 ml
364611 ml
33679 ml

(A)
(B)
(C)
(D)

The average of five consecutive positive
integers is M. If each term is decreased
by 2 and five consecutive integers of the
old series are included, then the new
average is

(A)
(B)
(C).
(D)

Increased by 1.5
Increased by 0.75
Decreased by 1.5

Average remained the same

139.

140.

141.

(Q)

142.

qRT 3R AT U Uihfae HEam 3R
s U "EAw ¥ A F AT F
ronfara frar Sirar §1 3Tadd GHiad
3T AT BT Hehell &7

(A) 2222.2

(B) 9090.9

(C) 9999

(D) 10000

537867AB UF TG 3l &l TEAT &
ST 6 ar 7 ar 9 ¥ RusT g o
mﬁagm(A,B)a:rmw%‘?

(A) (3,6)
B) (9,6
@ 7,2
() (5,4)

WWW%QWW:&W
e o Hed W S9Udr §l af
ag 2 e AT 110 30 7 S9ar §
AR 22.22% @1 1 GTed FLAT §,
Y T Ygd SHHA U bl AET AT
a{| '
(A)
(B)

36379 Al
363711 fAe
364611 .ol
(D) 33679 TG

qfer AT e quitel 1 3rad
M g1 afy geds ug I 2 @ "er o
ST R Qe e & HArTd
quiiet 1 enfier & fear ae, &
sraa &

(A) 1.5 & 3fg &3

(B) 0.75 #r 3f& €%

(© 1.5 & @ g5

(D) 3T aEr T
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143.

144,

145.

146.

147.

)

(A)
(B)

Given 168x32 = 5376, then 5.376+16.8

" is equal to

(A) 0.032

(B) 0.32

(C) 3.2

(D) 32

The value of (67.542) - (32.458) is
« 75.458 —40.374

(A) 1

(B) 10

(C) 100

None of these

The population of a town increased
from 1,75,000 to 2,62,500 in a decade.
The average percent increase of
population per year is

4.37%
5%
6%
8.75%

(A)
(B)
(C)
(D)

860% of 50 + 50% of 860 = ?

430
516
860
960

(C)
(D)

Rs. 1210 were divided among A, B, C so
that A:B = 5:4 and B:C = 9:10 then C gets

(A) Rs.340
(B) Rs. 400
(C)  Rs. 450
(D) Rs. 475

143.

144,

145.

146.

147.

168 x 32 = 5376 f&ar 9@r g, ar

5376+ 16.8 SIET &

(A) 0.032
(B) 0.32
(€ 3.2
(D) 32

(67.542)° —(32.458)°

AT &
75.458 —40.374
A) 1
B) 10
C) 100
D) & & @IS gl

Th CUF H TH UL H F=gEdr
1,75,000 & sga 2,62,500 g S|
i a¥ s # siwa e afy
=,
(A)

(B)
(€)

(D)

4.37%
5%
6%
8.75%

50 T 860% + 860 & 50% = ?

(A) 430
(B) 516
(C) 860
(D) 960

T. 1210 # A, B, C & 19 30 UK
fasmiaa fohar arar &6 AB = 5:4 3R
B:C = 9:10 & C wred giar &

(A) . 340

(B) %. 400

(C) . 450

(D) =. 475
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Part-C: Numerical Aptitude ANO7CGLT2023 T oT: WEATCHS Addm
148. Two vessels are filled with diluted 148. a1 oo a5 Wm uffs & #Y §U
sulphurfc acid, not up to _the brim. ¥ @ PR aF T adT A A
Vessel A has sulphuric acid and water in Fup—
the ratio 4 : 1 and Vessel B has water S 2l
" and sulphuric acid in the ratio 3 : 2. If 41 % 3 wdT B #ouEl 3R
twice of the volume of the sulphuric Tergier TfAg & 3Ead 3:2 gl afe
. Lutiai T ¥ ; : ‘ '
acid solution in Vessel A is thrice of that o A Te f‘ s wer B AT
of vessel B, then what will be the :
. . T SN, da B & 3mdae & did
concentration percentage of sulphuric 3
acid in the new vessel C, where both the AT g, d &v i C & m
vessels’ solution are mixed up? offiz &7 GigoT gldud & g, STl
at Sd=T @ Hler AT TAT §7?
(A)  65% (A) 65%
(B) 72% (B) 72%
(C) 78% (C) 78%
(D) Cannot be determined (D) = 7T Toar S dehdl
149. {(476+424)2—4x476x424}:? 149. {(476+424)2—4x476><424}:?
(A) 2906 (A) 2906
(B) 3116 (B) 3116
(C) 2704 (c) 2704
(D) 2904 (D) 2904
150.  If 60% of % of a number is 36, then the | 150. afy fFdr Fear & % FT 60% 36 &,
number is: ar ag 9Edm &
(A) 80 (A) 80
(B) 100 (B) 100
@ 75 () 75
(D) 90 (D) 90
&y 41
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PART—D: General English

Find the correct synonyms for the given Find the correct antonyms for the given

words. _ words.

151. SUMPTUOUS
155. LUMINOUS

(A) Delirious
: (A) clear
(B) Gorgeous :
(B) - dim
(C) Perilous
(C) brittle
(D) Luxurious
(D) clever
152. INSCRUTABLE
156.. AWE

(A) Difficult
(A) borrow
(B) Mysterious
(B) shallow
(C) Inflexible '
: (C) low
(D) Wary

: (D) contempt

153. LOQUACIOUS.
- 157. ROTUND

(A) Talkative
(A) round
(B) Thirsty

. (B) unimportant
(C) Beautiful

(C) thin
(D) Complicated
(D) dull
154. TEMERITY 158. MALODOROUS
(A) audacity (A) acrid
(B) fearfulness ; (B) pungent
(C)  shyness (C) fragrant
(D) stupidity (D) . delicious

42 =5
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Choose the correctly spelt word.

159. (A) Referigerator
(B) Refridgerator
(C) Refrigerator

(D) Refriderater

160. (A) Parliamentery
" (B) Parlimentary
(C) Parliamentary

(D) Parlamentary

161. (A) Recedeing
" (B) Reeceding

(C) Receeding

(D) Receding

162. (A) Beligrent
- (B) Belligerent
(C) Belligrent

(D) Beligerent

163. (A) Beguele

(B) Beiguile
(C) Baguile
(D) Beguile

Find the misspelt word.

164. (A) Advocacy
(B) Aristocracy
(C) Democracy

(D) Courtecy

165. (A) Surveillence
(B) Stupefaction
(C) Preferential

(D) Detrimental

166. (A) Recommend
~(B)  Alluminium
(C) Cemetery

(D) Satellite

167. (A) Radiant

(B) Salient

(C) Valiant
(D) Brillient
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Fill in the blanks with the correct modals.

168. You

pay for the damage
‘ done!
(A) could
(B)  would
(C) dare
(D) should
169. We to do a lot of work

170.

before the event starts.

(A)  would
(B) need
(C) having
(D) are

I go and check the

arrangements downstairs.

(A) should
(B) would
(C) might
(D) can

In the following questions, the underlined

part of the sentence may need improvement.

Below are given alternatives which may

improve the bold part. Choose the correct

alternative.

NOTE: In case no improvemént is needed, your

answer is No Improvement. .

171.

172

‘With_no_rain_and’ any access to clean

water many farmers will lose their crops.

(A) There'is no rain and no
(B)  Without rain and nor
(C) Without any rain or
(D) Noimprovement

When she regained consciousness she

was ‘stretched in the ditchout’, soaked to

the skin.

(A) outin the ditch stretched

(B) on the ditch outstretched

(C) outstretched in the ditch

(D) noimprovement
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Read the following passages carefully and
answer the questions given below.

Aristotle considered human nature, habit and
reason to be equally important forces to be
cultivated in education, the ultimate aim of
which should be to produce good and virtuous
citizens. He proposed that teachers lead their
students systematically, and that repetition be
used as a key tool to develop good habits,

unlike Socrates' emphasis on questioning his

listeners to bring out their own ideas. He
emphasized the balancing of the theoretical
and practical aspects of subjects taught, among
which he explicitly mentions reading, writing,
physical education,
and a wide

mathematics,
literature, history,
sciences, as well as play, which he also

music,
range of

considered important.

During the Medieval period, the idea of
Perennialism was first formulated by
St. Thomas Aquinas in his work "De Magistro".
~ Perennialism holds that one should teach those
things deemed to be of everlasting importance
to all people everywhere, namely principles
and reasoning, not just facts, which are apt to
change over time, and that one should teach
first about people, not machines or techniques.
It was originally religious in nature, and it was
only much later that a theory of secular
perennialism developed.

During the Renaissance, the French skeptic
Michel de Montaigne (1533 - 1592) was one of
the first to critically
Unusually for his time, Montaigne was willing
to question the edifice wisdom of the period,
calling into question the whole edifice of the
and the

university-educated
than

look at education.

educational  system, implicit
that

were necessarily wiser

assumption
philosophers
uneducated farm workers, for example.

173. What according to. Aristotle was the

ultimate aim of education?

(A) Cultivate habit of human nature

(B) Systematically ‘teachers to Iead‘
students to good habits

(C) To produce righteous citizens

(D)

To bring out students own ideas

174. The word ‘Renaissance’ is derived from
‘ the language.
(A) English
(B) Italian
(C) Latin
(D) French
175. Skepticis a person
| (A) Who is rational in thoughts
(B) Who denies the possibility of
knowledge .
(C) Who believes in rational thinking
(D) Who accepts knowledge of all types

&
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176.

177.

Read the cloze passage below and choose the -

Perennialism was first developed by
(A) Aristotle

(B) Plato

(C) Thomas Aquinas

(D) Michel de Montaigne

Explicitly is antonym of-

(A) Overtly
(B) lm.plicitly
(C) Utterly
(D) Impishly |

best answer:

Jeans have becorhe one of the most worn
pieces of clothing in the world. Everybody

I | s

farmer to the urban lawyer and -from

them, from ‘the rural

models to housewives. But why have

jeans become so -———m—-—?‘ You'll get

many answers. For some people they
look cool, for (3)
simply comfortable. Jeans were first
designed — @ durable trousers
for farm workers and miners in the states
of the American west. A Nevada tailor,
Jacob Davis, had the idea of using copper
bolts at the corner of the pockets to
make them stronger. They became

popular —E)——- and soon many

people bought them.

jeans are

178. (;hoose the best answer for (1).

179.

180.

181.

182.

(A) wears
(B) are wearing
(C) was wearing

(D)  will wear

Choose the best answer for (2).
(A)" popular

(B) outdated

(C) expensive

(D) infamous

Choose the best answer for (3).
(A)‘/‘ another

(B) the others

(C) others

(D) the other

Choose the best answer for (4).

(A) for
(B) as
(C) with
(D) by

Choose the best answer for (5).
(A)W vaguely

(B) instantly

(C) slowly

(D) comfortably
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Rewrite the following sentences in indirect

speech:

183.

184.

(0

| said to my classmate, "Please lend me

your cycle."

(A) | ordered my classmate to lend me

his cycle.

(B)
his cycle.
| requested my classmate to lend
| me his cycle.
(D) | forbade my classmate to lend me

~ his cycle.

Daman says, ‘Priya is working in

Ahmedabad.’

(A) Daman say that Priya was working
in Ahmedabad.

(B) Daman said that Priya was working
in Ahmedabad.

(C) Daman said that Priya works in
Ahmedabad.

(D) Daman says that Priya is working in '

Ahmedabad:

| advised my classmate to lend me

185. The teacher said, "What is the matter?"

186.

187.

(D)

*)

=

(A) The teacher asked what the matter
is.

The teacher asked what the matter
had been.

(B)

The teacher asked what was the

(€)

matter.

The teacher asked what the matter

was.

| said to my friend, "Can you swim"?

| asked my friend whether he .could
swim.

(B) | asked my friend whether he can
be swim.

(C) 1asked to my friend whether he can

- swim.
(D) | asked my friend whether could he

be swim.

She said, "I am coming just now."

(A) She said that | was coming just
then. -

(B) She told that she has been coming
just then.

(C) She said that she is coming just
now.

(D) She said that she was coming just

then.
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Find one word substitution:

188. A hater of knowledge and learning:

=

192. One who cannot be easily pleased-

(A)

(A) Bibliophile
(B) Philologist
(C) Misogynist
(D) Misologist

Cosmopolitan
(B) Frightening
(C) Fastidious
(D) Feminist
Fill in the blanks with appropriate

prepositions:

189. Commencement of words with the same
letter
(A) Pun
(B) Alliteration 193. She succeeded dint of
(C) Transferred eplihet Bérseverance and hard work.
(D) Oxymoron (A) . with
(B) by
{C)  to
190. Asadsong:
(D) for
(A) Ditty
(B) Knell
(C) Dirge
(D) Lay 194. Birds were seen moving one
'place to another place
change of seasons.
191. A person who loves everybody:
(A) to, with
(A) Cosmopolitan \
(B) from, with
(B)  Fratricide
‘ (C) from, for
(C) Altruistic
(D)  with, for
(D) Aristocrat
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195. He hinted

some loss of

treasure.
(A) at
(B) for
(€) on
(D) with

196.

She has not read anything
Monday.

(A) from

(B) for

(C) on

(D)  since

In the following questions, a sentence has

been given in Active/Passive Voice. Out of the

four alternatives suggested, select the one

which best expresses the same sentence in

Passive/Active Voice.

197: 71 r_emember my sister taking me to the

‘museum.

(A)

(B)

(C)

(D)

| remember | was taken to the
museum by my sister.

| remember being taken to the
museum by my sister.

| remember myself being taken to
the museum by my sister.

| remember taken to the museum
by my sister. |

198. Who is creating this mess?

(A)
(B)

(C)

(D)

Who has been created this mess?

By whom has this mess been

created?
By whom this mess is being
created?
By whom is this mess being

created?

199. The boy laughed at the beggar.

(A

(B)
(€)

(D)

The beggar was laughed by the boy.

The beggar was laughed at by the
boy.

The beggar was being laughed by
the boy.

The beggar was being laughed at by
the boy.

200. They drew a circle in the morning.

(A)

(B)

(C)

A circle has been drawing since

morning.

In the morning a circle have been

drawn by them.

A circle was being drawn by them in

the morning.

A circle was drawn by them in the

morning
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76
77

78
79
80
81

82

83
84

85

86
87

88
89
90
91

92

93
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95

96

97
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99

100
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51
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57

58
59
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62

63

64

65

66

67

68
69
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71

72

73
74
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29
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34
35
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39
40

41

42

43
44
45

46
47

48
49
50

Key

Question
No
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11

12

13

14

15

16
17
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20
21

22

23
24
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199
200

Key

Question
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152
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154

155

156

157

158

159

160

161

162

163

164
165

166
167

168
169

170
171

172

173

174
175

Key

Question
No

126

127
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129

130

131

132

133

134

135
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137

138

139
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141

142

143
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146

147
148
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113
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